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e Please check that this question paper contains 8 printed pages + 2 Maps.

e (Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
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it.

e 15 minute time has been allotted to read this question paper. The question paper
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read the question paper only and will not write any answer on the answer-book
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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions.
Each question carries 1 mark. Answers to these questions should not

exceed 30 words each.

Questions from serial number 9 to 20 are 3 marks questions.

Answers to these questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions.

Answers to these questions should not exceed 120 words each.

Question numbers 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book.



1. ‘f&= @ gEash o oi@eh ol A1 ffEu | 1
Name the writer of the book ‘Hind Swaray’.

2. TS TN AT 2 W Gefed a8 @1 AW fafay | 1

Name the river related to National Waterways No. 2.

3.  gE9-uqg 3R TSHIfah gt o st forefl T 3T &l Tuse I | 1

Explain any one difference between a pressure group and a political party.

4.  Arhdd & 37 I T Fifv | 1

Explain the meaning of democracy.

5. WA % [l T TSHITaeh ga o1 AW fafay e S+ stigiem @ 331 & |

Name any one political party of India which grew out of a movement.

~

6. g % YA 4 &g fafma i form YR S1E™ &4 T 2w e dfw | 1

How does the use of money make it easier to exchange things ? Give an
example.

7.  SUMIHI % T b ATUHR o IFE HI Teh IEWT T | 1

Give an example of violation of consumer’s right to choose.

8.  Uohel W Afha ATUHhaH YUl Hod 3MMeh (oTT fohH TR ATHHRI B ? 1

How is the maximum retail price printed on packets beneficial for you ?

9. 1830 G H JUY H IS feohral A 37Tk higATSAT S JUH FHIFT | 3x1=3
HAAT
frer o6 &= o wERER Sl foaaam o o11E fopmgl i et o1 aui T |
Describe any three economic hardships faced by Europe in the 1830s.
OR

Describe any three problems faced by the French in the sphere of education
in Vietnam.

32/1 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

32/1

B, 1922 § TSt 7 ‘TEEAN TSI hl IIE A b1 ol = TR 2
g dIF HNUT T HITIT | 3x1=3

Why did Gandhiji decide to withdraw the ‘Non-Cooperation Movement’ in

February, 1922 ? Explain any three reasons.

‘Al STasT Gl | SaEnRt St Al T ST Hediehd ShiferT | 3

Evaluate the role of business classes in the ‘Civil Disobedience Movement’.

IRd H gl-eeagq die-3eh Y& I fohgl dF fomwarstt &1 que
hifoTT | 3x1=3

Describe any three characteristics of the Durg-Bastar-Chandrapur Iron-ore
belt in India.

WA o ITTeh T # fafamior amres &1 ftrest 1 faeeor i | 3

Analyse the role of the manufacturing sector in the economic development
of India.

FHR A &l HYg A1 ARHEEH S H IRae Td HaR o FIeHT hl Rl
sl 3ITET Figd W@ hHINT | 3

Examine with example the role of means of transport and communication

in making our life prosperous and comfortable.

QArehda < fohra § ST Hat shi iRt w1 faveryor Hifs | 3

Analyse the role of popular struggles in the development of democracy.

TATS-Fg 3R MGIeH o8l TR TR hl Holed id & ? T G | IxI=3

How do pressure groups and movements strengthen democracy ? Explain.



17. hditieh Hael ¥ fohd Todi % YR W Ig IHHIG e 3faa & Fh a8
AU HTHTe SiTa 39cTed HUTH ? T HIMT | 3x1=3

On the basis of which values will it be a fair expectation that democracy

should produce a harmonious social life ? Explain.

18. YRd H dehi <hl forral dH ko1 G} Tfafafern s Tose HifSu | 3x1=3

Explain any three loan activities of banks in India.

19. SgUKE HUCAT fhH TR foRa-sT o 3G I Th-gEL & HIY SAedl @ ?
SR Higd Tase T | 3x1=3

How do Multi-National Corporations (MNCs) interlink production across

countries ? Explain with examples.

20. SRR GR&N U= (W), 1986 % Fard Iudh foargl & fuer & forw
Brwalm =t a9 & mew &1 favem Hifve | 3

Analyse the importance of the three-tier judicial machinery under
Consumer Protection Act (COPRA), 1986 for redressal of consumer
disputes.

21. “Usgdrg i vl e sfveafts 1789 H TEH ifd % Wiy g3 17 HeH H
T HIT | 5x1=5
rera
31 SR hH @ HIT egia smfen &1 foaam % foeg Ig @ g & fow
AR foRa |

“The first clear expression of nationalism came with the ‘French
Revolution’ in 1789.” Examine the statement.

OR

Examine the reasons that forced America to withdraw from the Vietnam
war.
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22. INulaftes TR 4 Gioa stem A 1 od e TR foRam 2 T
i | 5x1=5

How did the Colonial Government repress the ‘Civil Disobedience

Movement’ ? Explain.

23. WS GHIYAT 1 STV R IEOWIF & ? WS GETEHl o GEIU o whlg IR
Tk T HINT | 1+4=5

Why is it necessary to conserve mineral resources ? Explain any four ways

to conserve mineral resources.

24, WA AfHEE H WRA ITF hl w1 i faveo HiT | 5x1=5

Analyse the role of chemical industries in the Indian economy.

25. Alehdd <kl forgl ai=r femiwansti <1 auig HifST | 5x1=5

Describe any five characteristics of democracy.

26. “PIT SR TSI I GETAT A A g |7 HIH Pl qodTohd HIC | 5x1=5

“It is very difficult to reform politics through legal ways.” Evaluate the
statement.

27. YA ALl Y JVRUl o fohral UG HehWIcHS WGl <Rl fIgeiyur
i | 5x1=5

Analyse any five positive effects of globalisation on the Indian economy.

28. 3 ford gd & ? YA Tdcda®e W ISR & fohrgl IR 9HTEl ohl
Ui HT | 1+4=5

What is liberalisation ? Describe any four effects of liberalisation on the

Indian economy.
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29. OF @YU A, B 3R C, WA % U U ToHifdeh @-AEEE (758 9 W), ¥
sifera fopu T & | 571 weren @l frefefea s Y gERdr @ ggene e
3ok TE I, AFRE W i TE {@ren ) ke 3x1=3

A, 98 T S SAfAATaTe S h g1 ¥ Hag § |
B. 9% TIM W&l HIdT TS HiUH 1 STUETH FaTT o |
C. 98 T SIgf et 5 T9eh S arer o |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following

information and write their correct names on the lines marked on the map :
A. The city associated with the Jallianwala Bagh incident.
B. The place where the Indian National Congress session was held.

C. The place where Gandhiji violated the Salt Law.

Fig:  FHECTRIT J97 e gIRETad ghenteEl & o/ Jv7 e 29 & T T/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 29 :

(29.1) SfAATATAT ST shl TAT H H[Hd gL T A9 fARET |

(29.2) 39 TS T AW TARIT &7 et shl Wl A a1l 4 Teamwg foham o |

(29.3) 38 TIM 1 AW foIRgu Sgf et 4 F0eh BT dqrer o | 3x1=3

(29.1) Name the city related to Jallianwala Bagh incident.
(29.2) Name the State where the Indigo planters organised Satyagraha.

(29.3) Name the place where Gandhiji violated the Salt Law.
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30. WA % T T TSR W@I-AFRA (58 11 W) H HHfaRad sl 39w &)
T TIIiEy R 39 1 fafau 3x1=3

A, T - AMvEH FA FAT
B. I — YH@ Fqgl TH
C. THams — AR iR 3¥dTq w9

On the given political outline map of India (on page 11) locate and label

the following features with appropriate symbols :
A. Naraura — Nuclear Power Plant
B. Tuticorin — Major Sea Port

C. Bhilai — Iron and Steel Plant

Fe:  [AElrEd 3e7 e gl ghenforat & fore yeT gEar 30 F T ®
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30 :

(30.1) 39 TF 1 A1 foRau gt a0 ifoges Soft g9 feuq @ |

(30.2) 38 TS &1 AW Tl St Tl 9 oo+ e 7 |

(30.3) TaTE AigT 3R s&uTq 99 forg Tsu © feoa 8 2 3x1=3

(30.1) Name the State where Naraura Nuclear Power Plant is located.
(30.2) Name the State where Tuticorin Sea Port is located.
(30.3) In which State is the Bhilai Iron and Steel Plant located ?
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I G.

29 & foTu

For question no. 29

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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I G.

30 & foTu

For question no. 30

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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